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"..., & ..." is a conjunction meaning "and then" or "consequently". It
connects two sentences, where the second one shows a further development of
the first. Often used to describe gradual processes like learning progress, work

plans, or policy implementation.
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"H " is primarily used in written language to refer to or replace previously
mentioned people or things. It can also be used as an adjective, meaning "his,"
"her," "its," or "there." "H " is commonly found in formal writings such as
news reports, work reports, or academic articles, where it helps avoid

repeating the same word.
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"% 3 (*)" is primarily used in written language or formal contexts to
emphasize the progression of a thing, situation, or scope of influence from small
to large scale, from local to overall impact, or the gradual intensification of

events. When listing items, "% I (*%)" is typically placed before the last, most

extreme, or most unexpected item.

Losg #gmslo ke B2 13 AR R R kR -



TBCL % = & 4 13 (f £33 9 % &
2. %:‘% AR ARA T AERM BT BRBFADERAAT 0 2 23510 W R
fod 3 o

3. # % & fF(COVID-19 pandemic) 4= 82588 5 303 F eh ot X 74 > SE{S AR R

EW 2 IRE 23 kR Te AW koD F B 1T o
4, 2o it HRB TG P EREEILAE FRL o BAFIERBR TR E

IR R T E RE o
'
AR 2TRGL DRGSR ED

!
-

{

5. F 519 M A ER R A R Al HER T KBTI L LB g 2 18

i
|

(B) woeeer s BB
¥ H 5 zuizhong
# < %% ! in the end, eventually, ultimately, finally
FERNER TR P R ATEBEA P EFATEOREESAEH o v
P EEEPFR Y S A TR E S e RGBT 2l
BATER A kE BABER TR M | T URASIBFALE  FE A
AR GEE R o e TiE ST & o
"& %" is used to indicate the final result or conclusion of a process, plan, or
event. It is commonly used to describe an outcome achieved after long efforts
or multiple attempts, and it is suitable for summarizing event conclusions or
predicting future development trends. "# % " can be placed at the beginning or
end of a sentence and is often used in conjunction with words that indicate a
process, such as "through" or "after".
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"7 W R/ ..." is used to state one fact, followed by a more important or
unexpected piece of information. "Not only" introduces the first piece of
information, while "but also" or "even" introduces the second. "But also" is used
to list or add information with a relatively neutral tone; "even" emphasizes an
increase in degree or importance, with a stronger tone. This structure is often

used to describe multiple aspects or results of something.
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"M " is used to indicate that a preceding action or condition directly leads to
a subsequent result, emphasizing the continuity of cause and effect. This
conjunction typically connects two clauses, with the first clause describing a
cause or condition and the second describing a result or effect. " & A " is
commonly used in formal discussions, reports, and essays, particularly suitable

for describing logical progression in fields such as technological development

and economic policies.
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Instructions: Please read the passage and answer the questions based on the content.
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Instructions: Choose the appropriate words from the list above each paragraph to fill in the

blanks. There is only one correct answer for each blank, and each answer can be

used only once.
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Instructions: Please read each of the following questions carefully. Based on the question and

the provided vocabulary, express your opinion in two to three sentences using the

specified grammar point.
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Instructions: Please read each question below carefully, choose a topic of interest, search for

information online, and respond in complete sentences. You can share your
findings through an oral report or a written presentation with your classmates or
teacher. The content should include

1. Clearly state your opinion/stance.

2. Provide at least two examples or reasons to support your opinion.

3. Briefly explain opposing viewpoints or examples.

4. Give a short conclusion that addresses the main viewpoint.
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